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
 


 : 
 : 

(i) 

(ii) 

(iii)  1 2 
3  4  5  6 

(iv) 

 :

(i) (H) 
1 

 (ii) 1  2  3  4  5  6 
1 

(iii) 9 
(4,5), (5,4), (3,6), 

(6,3) 
 :

S 
S 

(i) 
S = {1, 2, 3, 4, 5, 6} 

(ii) 
 S = {HT, TH, HH, TT}. 


 (i) 

(ii) 
(iii) 



(i) : n 
A A, m 

A
P(A) 

P(A) = n
m , 

P(A) = 
k dh la[;kksadqy izs{k.

 gksrh gS ?kfVr ?kVuk ftlesak dh la[;izs{k.kksa

, 0  m  n. , 
0  n

m   1  0  P(A)  1 
0 1 

P(A) = 1,  A 
A 

P(A) = 0.
 A  A 

A 
m, n 

P ( A ) = n
m1n

mn   = 1– P (A) 
  P (A) + P ( A ) = 1 

:    
(i) : 52 (26 , 26 ) 
(ii) : () ,  (), 

 (),  () - 13 
(iii) : 12 (4 , 4 , 4 ) 
(iv) : 16 (4 , 4 , 4 ,  
4 ) 


1. :

(H) 

2. : 

(H) 
(T) 

 
Ex.1 500 

: 
: 240 , : 260 

Sol.  500 
  = 500 

A B 
, 

A = 240. 
B = 260 

P(A)=
 dh la[;kkksadqy izs{k.

 gksrh gS?kfVr  ?kVuk ftuesak dh la[;izs{k.kksa A

= 500
240  = 0.48 

P(B)  =
 dh la[;kkksadqy izs{k.

 gksrh gS?kfVr  ?kVuk ftuesak dh la[;izs{k.kksa B

= 500
260  = 0.52 

: P(A) + P(B) = 0.48 + 0.52 
A  B 

Ex.2 1000 1, 2, 3, 4, 5 
 6 

: 
:  1  2  3  4 5       6 

:  179 150 157 149   175   190 
[NCERT] 

Sol.  Ai i 
, i = 1, 2, 3, 4, 5, 6 , 



P(Ei) = 1 
=

k dh la[;j dh dqy ckdussa Q dkslsik¡
rkdh ckjEckj1

= 1000
179  = 0.179 

P(E2) = 2 
=

k dh la[;j dh dqy ckdussa Q dkslsik¡
rkdh ckjEckj2

= 1000
150  = 0.15 

, 
P(E3) = 1000

157  = 0.157, P(E4) = 1000
149

= 0.149, P(E5) = 1000
175  = 0.175 

, P(E6) = 1000
190  = 0.19 

 

Ex.3 
: 

 :  I II III IV V 
58 64 76 62 85 

: 
(i) 60 % 
(ii) 70 %  80 % 
(iii) 75 % 
(iv) 65 % 

Sol.  = 5 
(i) 

60 %  = 4. 


= 5
4  = 0.8 

(ii) 70 %  80 % 
= 1. 

 70 %  80 % 
= 5

1  = 0.2. 

(iii) 
= 5

2  = 0.4 
(iv) 65 % 

= 3 
 65 % 

= 5
3  = 0.6 

Ex.4 200 
(

25828573,  3 ) 
: 

 :  0  1  2  3  4  5  6  7  8  9 
: 22 26 22 22 20 10 14 28 16 20 

: 
(i) 6 
(ii) 3 
(iii) 
(iv) 

Sol.  , 
= 200 

(i) 6 14 

 6 
= 200

14  = 0.07 
(ii) 3 3, 6  9. 

3  6  9 = 22 + 14 + 20 = 56 
 3 

= 200
56  = 0.28 

(iii) 
(2  4  6  8) 

= 22 + 20 + 14 + 16 = 72 


= 200
72  = 0.36 



(iv) 
(1  3  5  7  9) 

= 26 + 22 + 10 + 28 + 20 = 106 


= 200
106  = 0.53 

 

Ex.5 
1000 

400 400
900

900
1400

1400

210 325 385 80

: 
(i) 400 km 

 ? 
(ii) 900 km  ? 
(iii) 400 km 

 1400 km  ? 
(iv) ? 
(v) ? 

Sol.  , 
(i) = 1000 
  400 km 

= 1000
210  = 0.21 

(ii) 900 km 
= 385 + 80 = 465 

 900 km 
= 1000

465  = 0.465 
(iii) 400 km 1400 km 

= 325 + 385 = 710. 

 400 km 1400 km 
= 1000

710  = 0.71 
(iv) 

= 0 
 = 1000

0  = 0 
(v) 

= 1000
1000  = 1 

Ex.6 5 
20 

: 
1 2 3 4 5

40 48 42 39 41
: 

(i) 40 ? 
(ii) 49 ? 
(iii) 35 ? 
(iv) 40 ? 
(v) 40 ? 

Sol.   = 5 
(i) 50 40 

= 3. 
 40 

= 5
3

(ii) 49 =  0  
 49 = 5

0  = 0 
(iii) 35 

 = 5. 
 35 



 = 5
5  = 1. 

(iv) 40 
 = 4 

 40 = 5
4

(v) 40 
= 2. 

 40 = 5
2

Ex.7 40 
(km ) 

5 3 10 20 25 11 13 7 12 31
19 10 12 17 18 11 32 17 16 2
7 9 7 8 3 5 12 15 18 3

12 14 2 9 6 15 15 7 6 2
 : 

(i) 7 km 
(ii) 7 km 
(iii) 2

1 km 
(iv) 15 km 

Sol.   = 40 
(i) 7 km 

= 10 


7 km 
= 40

10  = 4
1  = 0.25 

(ii) 7 km 
= 30 


 7 km = 40

30  = 0.75 

(iii) 
2
1  km 

 2
1  km 

= 40
0  = 0 

(iv) 15 km 
= 30 

  15 km 
= 40

30  = 0.75 
Ex.8 

2000 
: 

0 1 2 3 3
18-29 440 160 110 61 35
30-50 505 125 60 22 18

50 360 45 35 15 9

( )

: 
(i) 18-29 

3 
(ii) 30-50 

(iii) 
Sol.   = 2000 

(i)  18-29 
61 

 18-29 
= 2000

61  = 0.0305 
(ii)  30-50 

= 125 + 60 + 22 + 18 = 225. 



 30-50 
= 2000

225 = 0.1125 
(iii) 

= 440 + 505 + 360 = 1305 


= 2000
1305  = 0.653 

Ex.9 1 25 

Sol.  S = {1, 2, 3, 4, ...., 25} 
E = 

     = {2, 3, 5, 7, 11, 13, 17, 19, 23}. 
  n (E) = 9 

 P(E) = )S(n
)E(n  = 25

9 . 

= 1 – P(E) = 


  25
91  = 25

16 . 

Ex.10 5 kg 
 (kg ) 

 : 
4.97  5.05  5.08  5.03  5.00  5.06  5.08  4.98  5.04 5.07  
5.00  

5 kg 

Sol.   = 11 
5 kg  = 7 

 5 kg 
= kg5

= 11
7

 

Ex.11 250 
175 

(i) 

(ii) 

Sol.  = 250 
(i) P

 = 

= 250
175  = 0.7 

(ii) 
= 250 – 175 = 75. 
P( ) = 250

75  = 0.3 
 Ex.12  0.3 

Sol.   = 0.3 
 = q ( ). 

 0.3 + q = 1  q = 1 – 0.3 
 q = 0.7 

 

Ex.13 

(i) (ii) 
(iii) 

Sol.   H T 


(i)  = P(HH) 

= = 4
1



(ii) 
= P(HT or TH or HH) 
= = 4

3

(iii)  = P(TT) 
= = 4

1
 

Ex.14  - 
(i) 
(ii) 3  2  1 0 

(iii) 3 , 2 , 1 

Sol.   H T 

(i)  = {HHH, HHT, HTH, THH, 
HTT, THT, TTH, TTT}. 8 

(ii) 3  = (HHH) = 1 
2 = {HHT, HTH, THH} = 3 
1  = {HTT, THT, TTH} = 3  
0  = {TTT} =1 

(iii) 3  = P (HHH) 
= 3  = 8

1

 2 
= P(HHT or THH or HTH) 
= 2 = 8

3

= P (HTT or THT or TTH) 
= 1 = 8

3

 = P (TTT) 
=  = 8

1

Ex.15  12 x 
(i) 

(ii)  6 
 (i)  x 

Sol.  
 = 12 

  = 12 
 = x 

(i)   12  = x  
 P( ) = = 12

x

(ii)  6 
 = x + 6 
  = 12 + 6 = 18 

 P( ) =

= 612
6x




= 2 × 

  18
6x  = 2 



12
x   18

6x   = 6
x

 6x + 36 = 18x 12x = 36 
 x = 3 

 = 3 
 

Ex.16  53 

Sol.   = 366 
 366  = 52  2 

(i) 
(ii) 



(iii) 
(iv) 
(v) 
(vi) 
(vii) 

 53 

  = 2 
 = 7 

 P(  53 ) = 7
2

Ex.17 
 : 

(i)  (ii) 
(iii)  (iv) 

Sol.  

HHH, HHT, HTH, THH, HTT, THT, TTH, TTT 
  = 8. 

(i) " " 
HHH  HHH 

  = 1 
 = 8

1

(ii)  " " 
HHT, THH, HTH 

  = 3 
= 8

3

(iii) 
HTT, THT, TTH 
  = 3 

= 8
3

(iv) HHH, HHT, HTH 
THH 

" " 

  = 4 
= 2

1
8
4  . 

Ex.18  50   1 
 2  5 

(i) 50 
 (ii)  5 
Sol.  50  = 100 

 1  = 50 
 2  = 20 
 5  = 10 

(i) 50 
 = 100 

 = 100 + 50 + 20 + 10 = 180 
 = 180 

P = 

P (50 p) = 180
100  = 9

5

(ii)  5 
 = 180 – 10 = 170 

P = 



 ubull

P (  5 ) = 180
170  = 18

17

Ex.19 20  1, 2, 3, 4, 
....20 

(i)  (ii) 2  3 
(iii)  (iv) 10 

Sol.  = 20 
 =

(i)  20 
 P = = 20

10 = 2
1

(ii) 2  3  2, 3, 4, 6, 8, 9, 10, 12, 
14, 15, 16, 18, 20. 
2  3  = 13  

P (2  3 ) 
= 32

=  20
13

(iii)  20  2, 3, 5, 7, 
11, 13, 17, 19 

 = 8 
 P( ) = 

= 5
2

20
8 

(iv) 10  1, 2, .. 9, 
11, ...19 
10  = 18 
P(10 ) 
= 10

= 10
9

20
18 



1. 

2. 

3. 

4.




